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MethodOverloading { void recieve(int i) { System.out.printin("J [
O O intd O "). System.out.printin("i="1). } void recieve(float f) {
System.out.printin("J O O O float I OO LI'").
System.out.printin("f="f). } void recieve(String s) {
System.out.printin("CJ O O O Stringd 0O O ™).
System.out.printin("s="s). } public static void main(String[] args){
MethodOverloading m = new MethodOverloading().
m.recieve(3456). m.recieve(34.56).m.recieve(* U OO OO OO
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public void pri(String... strings ){ for (String str : strings) //ford [ [
DO0O00000000 System.out.print(str). } public static void
main(String[] args){ new overload().pri("100jg"," U O OO O OO O O
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protected int x, y. public Point2D() { this.x=0. this.y=0.} public
Point2D(int x, inty) {thisx=x.thisy=y. }}//0 00 0O 0O O O O
[1 O O class Point3D extends Point2D { protected int z. public
Point3D(int x, inty) { this(x, y, 0). } public Point3D(int X, inty, int
z) {this.x =x.this.y=y.this.z=2z. }}//0 O 0O 0O O 0O O class
Position2D { Point2D location. public Position2D() { this.location =
new Point2D(). } public Position2D(int x, int y) { this.location =
new Point2D(x, y). } public Point2D getLocation() { return location.
W/OOOoOoOoOooOOoddaod class Position3D extends



Position2D { Point3D location. /0 O U 0O O O O Point3D0 O O
[I public Position3D(int x, inty, int z) { this.location = new
Point3D(x, Y, z). } @Override //LJ 0O O O 0O O O public Point3D
getLocation() {returnlocation. /0 U 00000 O0OOOOO
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